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Instructions Answer any 5 questions At
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: a S:st the classifications of casing connections. Pmacke w_.._-;r‘\ s

c Listthe preing design process using flow chart [Smarks) 27

d num:rap{nﬁdures {0 be applied during casing sizes and depths selections [5marks] - T

° e procedures to be applied when running liners. [3marks]

e. De’ﬁn‘e'tﬁé‘éﬁhﬁéiEbﬁﬂiﬁnﬁs"tﬁﬁé_cn_“'
Q2. A driller when drilling g Y,
What will be the first thing the driller should do? [2marks]

a

b. Caleulate the kick mud weight [3marks]
C. Whatare the Primary signs th
d. '
e
f

curvature method [8:5 marks]
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Q5. a. Give three (3) reasons hydraulic systems are analyzed while drilling oil and gas wells. [3 marks) s o
b. What are the consequences of improperly designed hyraulic system [3 marks] “*

C. Explain the term “particie slip velocity”, Vis and state factors that affact it [4 marks] == -
d. Pump out recorded during mud circulation was 239 .4 gal/min. 5% cultings concentration was chserved in the annulus of
8; inche hole size with drill pipe outside diameter of 4! inches. Determine cutlings transport efficicncy and maximum rate of
penelralion using a slip velocity of 0.10812 fps. Assuming the same pump circulated a .6 ppg mud at 4.8 bb'min in the
Same hole and drill pipe size, what would be the maximum rate of penetration? [10 marks]
Q6. a. Inlermediate casing would be cemented with 11.4 Ib/gal mud at 7,000 {t. 15.4 Ib/gal Ciass H cement between 7.000 It
and 9,000 ft while 16.6 Ib/gal Class H cement is between 9,000 ft and 12.000 ft Would the static hydrostatic pressura
i Tracture the formation at 12,000 ft, assuming the fractire pressure is 14.2 Ib/gal. {4 marks) oo S
. b. What could poor cleaning of cuttings beneath lhe bit cause? [1 marks] |
~» € What are the practical applications of pressure drop across the bit? [3 marks)
d. A 104 ppg mud was being pumped at 9 bbl/min at 10.000 ft well depth. The pressure drop across the bit was 2000 psi
- Determine the bit nozzle diameter, Hydraulic Horsepower and Jet Impact Force. [12 marks] |
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